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qrT-111 $iferes Trgen
PART-III, SCHOLASTIC APTITUDE TEST

aiifaer ome
PHYSICS
TH FM 60 km/hr T § FAE M FE 1. A car covers 30 km at a uniform speed of 60
gC 30 km & g 7 F 21 A 40 kmv/hr km/hr. and the next 30 km at a uniform speed
1 9 § FAH T A g 3T 30 km # of 40 km/hr. The total time taken is :
3 T w8, A F9 g 7@ A A @
ael A FHE &N (A) 30 min (B) 45 min
(A) 30 fime (B) 45 e
(C) 75 fre (D) 120 (C) 75 min (D) 120 min
TFHAR A TI T "u" 9 § TF o) F9 2. A stone is thrown upwards with a speed "u"
P 37 T ST 2 A a8 30" a7 T from the top of a tower. It reaches the ground
¥ TR 2, @ FAR F FEE EeT with a velocity "3u". The height of the tower is :
u’ 2u’ u’ 2u’
(A) 5 (B) & (A) T (B) 3
©) 2 (D) 2 (&) 2 (D) "
af% U HUT 1 = A o & W At dor 3+ When the speed of a particle is doubled, the
TR F i HAT #osum B o ratio of its kinetic energy to its momentum :
(A) ®ia fra @ (B) EuGl g (A) remains the same (B) gets doubled
(C) 3mer g (D) R T il (C) becomes half (D) becomes four times
10° Hz ¥maft aeft Wfea @n et s 4. Calculate the wavelength of radio waves of
3 x 10° m/s &1 399 aored et - frequency 10% Hz. The speed of radio waves
A1 . (40 o ;jﬁj ;0 ]c?: e (B) 40 cm
(C) 30 ¥, (D) 10 . (C)30 cm (D) 10 cm
afd § om, @ A BF & UH §ag W 16 5. A force of 16 N is distributed uniformly on
N & 9 U& 0 &9 ¥ faafts & af 39 @ag one surface of a cube of edge 8 cm. The
W TE H T & pressure on this surface is :
(A) 3500 Pa (B) 2500 Pa (A) 3500 Pa (B) 2500 Pa
(C) 4500 Pa (D) 5500 Pa (C) 4500 Pa (D) 5500 Pa
frg fufy & & &1 9= 3fEay gm ? 6. In which of the following caes, is the work
g done maximum ?
A 3:0‘ B 45° ’ i
(A) Lﬁ (B) L By L : @ &
F S "
© O (D I (©) L (D) ———
=
[20]
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faw 0 fom & g A &R B & 9 g gl
e g -

100210Q10Q

A 200 B

200 ZOQ_/

(A) 9.23 Q (B) 15 Q
(C) 30 Q (D) 100 Q
If gae verd % € an e o Losi

2L &, A9 IR FPRY FE F AR
FAY: 4A 3R A 2, | I WY w0

ST

(A)1:1 (B)1:8

©8:1 (D) 1:2

IRk R WY ad a) H 36 A dTEE |
= T die far S s A iRy
g

R
(A) 9R (B) 3
(C) 3R (D) R/3
a8 el foed 9 @ €
(A) 3THT T (B) e famifiam

(C) gu=sRr Fefe (D) ifafa feie

LTI & TY IGW B arel P FEea
g

(A) (B) STamafoa

(C) wrATIE (D) Ty

o f By gl 9 UH g9 o C
# AB & fwm & w1 Ww A
TE A A B gl af—

1 S )E
(A) 1 (B)[g]f
(C) 2f (D) = 2
Ifz 2 9 T aTel fvel & gan wme
2 a o vz & faw s=f, &o% five &
R FA G o gt
(A) T& §HH (B) @fep
(C) #HA (D) B 3=

[21]
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10.

12.

13.

The total electrical resistance between the
points A and B of the circuit shown in :
100100100

A 200
l\N‘!Wr B :
200 zm’/
(A) 923 Q (B) 15 Q
(C) 30 Q (D) 100 Q

Two wires of same material have lengths L
and 2L and cross-sectional areas 4A and A
respectively. The ratio of their resistances
would be :

(A)1:1 (B)Y1:8

() 8:1 (D)1:2

Wire of resistance R is streched to thrice
of its original length, what is its new
resistance ?
(A) 9R

(C) 3R

gy &
®) 3

(D) R/3
Galaxy in which we live is :
(A) Milky way

(C) circular galaxy

(B) radio galaxy

(D) irregular galaxy
Vision problem occuring in old age is known
as :

(A) Myopia

(C) Hypermetropia

(B) Presbyopia
(D) Anepia

The focal length of each half, if (

the symmetrical lens of focal
length 7 cut along AB :

c
A7 (B) Hf \

(C) 2f (D) zero

Two bodies of unequal masses posses the same
momentum. The K.E. of the heavier mass will
be ........... the K.E. of the lighter mass

m\_____‘-'/}

(A) same as (B) greater than
(C) less than (D) much greater than
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CHEMISTRY
14. oW & afasns 2 14. Clectron was discovered by :
(A) IS, 9EA (B) =sf (A)J.J. Thomson  (B) Chadwick
(C) 3. MeeRH (D) S (C) E. Goldstein (D) Rutherford
15. e = Tl @ R 15. The chemical formula of Gypsum is :
(A) CaCO, . SH,0 (A) CaCOy . 5H,0
(B) CaSO, . 2H,0 (B) CaSO, . 2H,0
I |
(C) CaSO, . 5 Hy0 (C) CasO, . 5 Hy0
1 I
16. T T@ TGl Ak F @4 38 WA § @ 16, The process in which the red hot cast iron is
& W B Fed 8 cooled immediately in cold water is known as :
(A) TJEHT (B) M4 w94 (A) Tempering (B) Quenching
(C) At (D) fotsm e (C) Annealing (D) Bleaching
17. Na® &1 soiegiias 4= 7 17.  Electronic configuration of Na' is :
(A) 2,8, 1 (B) 2, 8, 8 (A)2, 8, | (B) 2. 8, 8
(C)2,8 (D) 2,8, 8,1 [ (D) 2, 8, 8, 1
18. SO, # HeH WHI] & HASTHA g 18.  Valency of Sulphur atom in SO, is :
(A)3 (B) 2 (A)3 (B) 2
€4 (D) 6 (C)4 (D) 6
19; CH3—|(_‘.H—CI13 19.  Write IUPAC name of :
CH; CH3—|CH—CH3
F IUPAC (smE.gdtud.) am fafgd - CH,4
(A) 2, 2 EEAfye I (A) 2, 2 dimethy! propane
(B) 2, #iwer g2 (B) 2, methyl butanc
(C) 2,2 AR TEF (C) 2, 2 dimethyl ethane
(D) 2, WfoE S (D) 2, methyl propane
20, wWAaw e d dar g 20. Stainless steel contains :
(A) Fe, Ni, Cr (B) Fe, Ni, Sn (A) Fe, Ni, Cr (B) Fe. Ni, Sn
(C) Fe, C, S (D) Fe. P, Cr (C) Fe, C, S (D) Fe, P, Cr
NE [22]
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S ol AT # 12 2 & U IR G
FAE |18, O 39 T § A seeE
IUem & -
(A) 23

(C) 10

(B) 12

(D) 11

TG TR ¥ dl 1 SRl &g o g
(A) 1s2, 25 2p?

(B) 1s?, 2¢? 2p5, 3% 3p/

(C) 1s2, 2s? 2pS

(D) 1s?, 2s% 2p®, 3s!

AR S& W 7] ToRIRSE o S W S
T a8, o f o
(A) SO,

(C) Hy

(B) S
(D) O,

O
forar®s TR (_c—oH) & M ¢ :

(A) tfeeems
(B) HH
(C) TEHEr
(D) Feifaafers 37T
TdA # FEE-FEa TEvE & T 9Rr WM
e A9 @
(A) THT TEHONS a9
(B) fosh weHaN® v
(C) F weodes a9
(D) foray warom s
PVC & T B :
(A) +CH,~CH},

1
(B) ¢ CH,~CH, 3,
(C) +CF,—CF, 3.
(D) +CH,—CH ).

|
CH;,

[23]
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If there are 12 neutrons in an atom and its
atomic number is 11. Then how many
electrons are present in it :

(A) 23 (B) 12

(C) 10 (D) 11

What is the electronic configuration of
elements of IlIrd group :

(A) 1s% 252 2p3

(B) 1s2, 252 2p$; 352 3p!

(C) 1s2, 252 2p8

(D) 1s%, 252-2p8, 3s!

The gas produced on addition of dilute
Sulphuric acid on powdered zinc is :

(A) SO, (B) S
(C) H, (D) O,

0
Name of functional group (_&_ QH)is:

(A) Aldehyde

(B) Ketone

(C) Alcohol

(D) Carboxylic acid

Type of bond present between carbon— carbon
atoms in Ethene is :

(A) Single covalent bond

(B) Double covalent bond

(C) Triple covalent bond

(D) Electrovalent bond

Structure of PVC is :

(A) +CH,~CHY,
|
(B) +CH,—CH, 3,
(C) £CF,~CF,7,
(D) +CH,~CH3-
|
CH,
P.T. O.
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BIOLOGY
ey v e sfoafea fear 27. Who proposed the term Ecosystem :
(A) T S 9 (A) A. G. Tensley
(B) §. . 30w (B) E. P. Odum
(C) &el Hfegy (C) Carl Mobius
(D) 3= g (D) Earnst Haeckel
TFIyT SvemeT F offEa § ifedisE F7 |9 28. In the process of Photosynthesis, the source
7 of Oxygen is :
(A) CO, (A) CO,
(B) H,0 (B) H,0
(C) CgH,,04 (C) CgH 204
(D) 3% ¥ HE T (D) None of these
o8 RS & F7 S99 9TF 99 8 : 29. Which component is formed by plants in the
) s (@) s o e (i
() (D) IR T (C) Producer (D) All of the above
frer & & 37 o & Tew AE @ 30. Which of the following is a plant hormone :
(A) gfem (B) WEEIHEFA (A) Insulin (B) Cytokinin
(C) i (D) TS (C) Thyroxin (D) Oestrogen
HIEH F TE EEY FEAT R 31. Power house of cell is known as :
(A) TieiiHE (B) mREIEvgan (A) Golgi bodies  (B) Mitochondria
(C) TEarEH (D) EHEH (C) Ribosome (D) Lysosome
fewiawr & F, s & @ 32. F, ratio in Dihybrid cross is :
(Ayl1:2:1 B)7:3:6 (A)1+2:1 B)7:3:6
(8:3:3:1 (D)3:1 (€Y9:3:3:1 D)3
B W ST A A Feer § 33. Which organ is known as ‘Blood bank' :

(A) 8T
(©) faceit

(B) #Hd
(D) g%

[24]

(A) Heart (B) Liver
(C) Spleen (D) Kidney
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T T & TR TS (S &) HEAr
£

(A) A (B) B

(C) AB (D) O

BAR T H afedeE & 9fERd U R %
TR & 2, T 9

(A) FfA

(B) FrolsH

(C) Emeifar

(D) AFTEEE
RS # sifm swr §

(A) GERIRF 37

(B) Afes ara

(C) TEEfas o7

(D) FgHfE ant

g § & 3 @ 1 g ot ¥ Hafte €
(A) NO, & CO,

(B) CH, & SO,

(C) CO, & SO,

(D) SO, & NO,

I T = R s & am g
(A) wrEErivEa

(B) FRiw= (gRa &)

(C) TEEEm

(D) Tt

Freiftheers & WA fFes gR 8 2
(A) 5'g (B) uei

(C) (D) 38 ¥ FE
WHW&EW? ;

[25]
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Which blood group is called "Universal
donor" :

(A)A (B) B
(C) AB D)o

Oxygen in our blood is transported by a
Protein, named :

(A) Keratin

(B) Collagen

(C) Haemoglobin
(D) Myoglobin

The end product of glycolysis is :
(A) Phosphoric acid

(B) Malic acid

(C) Pyruvic acid

(D) Fumaric acid

Which of the following gases related with
acid rain :

(A) NO, & CO,

(B) CH, & SO,

(C) CO, & SO,

(D) SO, & NO,

The Grana & Stroma are the parts of which
cell organelles :

(A) Mitochondria

{B) Chloroplast

(C) Ribosome

(D) Golgi bodies

Reproduction in Bryophyllum takes place by :
(A) Root (B) Leaf '
(C) Stem (D) None of these
Botanical name of Tulsi is :

(A) Saraca indica

(B) Ficus benghalensis

(C) Phyllanthus emblica

(D) Ocimum sanctum

P.T. O.

Courtesy : NTSE


http://cbseportal.com/
http://cbseportal.com/

Downl oaded From : http://cbseportal.com

HREE

HISTORY
41, 9 w9 fFa o g wEfE g o 41. Sanchi Stupa is related to which religion ?
(A) SH (B) = (A) Jain (B) Buddhism
(C) Hrrad (D) wmerd (C) Bhagvat (D) Shakt
42. TEAeEE (W ) wear @ @S #l 42. Mohanjodaro (Saraswati Sindhu) Civilization
e is discovered by :
(A) ¥ FEIgL EEAl g (A) Rai Bahadur Sahni
(B) TEE I sl & (B) Rakhal Das Banerjee
(C) T =ud T (C) Ram Chaudhary
(D) d1.€1. #g™HA g (D) V. D. Mahajan
43. a9 sy A a— 43. Buddhism is started by :
(A) 3. &, M. Y= T (A) Dr. B.R. Ambedkar
(B) WeE &M g (B) Mahaveer Swami
(C) 5T 98 & (C) Mahatma Budh
(D) THIE 379N EW (D) Samrat Ashok
44. TUT TS IMTS 4T ¢ 44, Samrat Ashok was ruler of :
(A) iUt (B) Rfegd & (A) Bhopal (B) Pataliputra
C) Reet 1 (D) fofewm & (C) Delhi (D) Vidisha
45. 9 UHET H ey vIiEereT TeE 9T— 45. Most powerful ruler of Gupta dynasty was :
(A) &t = (B) $9R = (A) Shree Gupt (B) Kumar Gupt
(C) ®he T4 (D) §95 T« (C) Skand Gupt (D) Samudra Gupt
46. fBmam gwe & g e & o 2 46. Who was the founder of the kingdom of Vijay
G a Tga};?'h d Bukk
] e e
(C) = faf (C) Dev Roy 11
(D) ¥ 1 (D) Harihar 11
47. feceft & Awdelt O SR &1 Bl ST 47, Mehrauli situated Kutubminar of Delhi is
TRl constructed by :
(A) wrEsRl g (A) Shahjahan
(B) SRR B0 (B) Aaram Shah
(C) I F T (C) Kutubuddin Ebak
(D) g€ g/ (D) Babar
NE [26]
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& S d—

(A) weRen facst

(B) e &

(C) HEHR TIAH &l

(D) fHeme qeis @
aroEe o & -

(A) BRY H (B) 9 H
(C) amm | (D) =% #
fyrarst & o &1 A9 a—
(A) SfomrE (B) Sveg
(C) wiediat (D) dEE

AeE fR= w9 % gwNs 49—
(A) UfEd Faet a1 ABE

(B) WE< 2 HHI< TE

(C) WM = T

(D) W ¥z 3wwe @

TEIG HGE F FH EH A :
(A) 77 w9 # (B) fagm #
(C) faeett & (D) sma H

A Bisl <o o fear ma—

(A) 3= T gm

(B) e TR T2d &

(C) . q. fyam g

(D) TEA =" FEE= T gw

T =9 Qe §Y H W f—

(A) faoreendr 1925 €. F
(B) fasam=er®t 1930 3. &
(C) AUl 1942 €. &
(D) &t 1947 £ H

T WY 9% U9 § TS 94—

(A) T8 TeaeTst

(B) &vr@ aferrd e
(C) o=l &Y U
(D) e fagrdt arsied

[27]

49.

51.

s2.

55.

Which Sultan is known as Mad (Sanki) Sultan

in history :

(A) Allauddin Khilji
(B) Balban

(C) Muhammad Tuglak
(D) Ferozshah Tuglak

Tajmahal is situated at :

(A) Chattarpur (B) Patna
(C) Agra (D) Mumbai
Shivaji's mother name was :

(A) Jijabai (B) Baijabai
(C) Chandbiwi (D) Tarabai
Founder of Azad Hind Fauz was :
(A) Pt. Jawahar Lal Nehru

(B) Mohan Das Karamchand Gandhi

(C) Subhash Chandra Bose
(D) Sir Saiyad Ahmed Khan

Chandrashekhar Azad was born at ;

{A) Madhya Pradesh (B) Bihar
(C) Delhi (D) Bengal

Quit India Movement is started by :

(A) Indira Gandhi
(B) Ballabh Bhai Patel
(C) D. P. Mishra

(D) Mchan Das Karamchand Gandhi

Rashtriya Swayam Sewak Sangh' was

established in :

(A) Vijaydashmi - 1925 A.D.
(B) Vijaydashmi - 1930 A.D.
(C) Deepawali - 1942 A.D.
(D) Deepawali - 1947 A.D.

Founder of "Rashtriya Swayam Sewak Sangh'

was :
(A) Guru Golwalker
(B) Keshav Baliram Hegdewar

(C) Lala Lajpat Rai
(D) Atal Bihari Vajpayee

PT.0.
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GEOGRAPH
56. HIH, YSIA HEEH F TER & 56. Coal, Petrol are the type of resources :
(A) IT W{ﬁ'ﬁﬁ'—l LSES IS (A) Non Renewable resources
(B) T ff e HEEE (B) Renewable resources
(C) T&ER ¥4I SEEH (C) Frequently used resources
(D) TR RFRS HERE (D) Eternal Natural resources
57. o g & @ o =& e g ? 57.  Why red soil has red colour ?
(A) 358 GREIREG 3t faemm @9 & (A) because it contains phosphoric acid
(B) 394 ggHY g 8= @ (B) because it contains Humus
(C) ITH T-I'E?H'rl o= 8= | (C) because it contains Nitrogen
(D) 3% @ET e B ® (D) because it contains Iron
58. HTH Y€ $ A9 § S 96 8 $8. The name of operation flood is known :
(A) S i (A) Yellow revolution
(B) et iy (B) Blue revolution
(C) v FHifa (C) White revolution
(D) TerE Fifd (D) Pink revolution
59, i O oy Fraer & T8 8 ? 59. Which is not a variety of coal ?
(A) TR B) fafmm | (A) Anthracite (B) Bituminous
(C) ferimrze (D) fermmse (C) Lemonite (D) Lignite
60. TIH HEN UREET W WA § 60. Which is the most cheapest means of
(A) T o transport :
(A) Water transport
(B) =13 R (B) air transport
© o ot (C) rail transport
(D) W= uftasa (D) road transport
NE [28]
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A TR ?

(A) 9 am A F IR

(B) REM G H IR

(C) AH 91 & IR

(D) ST & 230

WA # gaite S @ GEel SmE S 8 ?
(A) T (B) T

(C) =& (D) ars|

a9 erftT 3am A9 @

(A) SFS AN (B) Tt 3@
(C) @ i (D) I+ =

A & fhe o F foed dle s SEm
wpftT @

(A) BeiTE (B) FAles

(C) uf¥aw sme (D) 3nfem

qE § died AERE & S @ g s
(A) T (B) T

(C) et (D) 2T

Ao # g flga e & YER @
(A) Fepfdas 3=

(B) 3iifrs amo=

(C)nﬁqﬁmm

(D) 3= [t

TR demg wRa & fFe Tog # fRm # 2
(A) TfirerTg (B) e

(C) ™ wew (D) =

[29]
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65.
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What is Knot ?

(A) Unit of measuring wind velocity
(B) Unit of measuring air pressure
(C) Unit of measuring temperature

(D) Condition of sky

Which crop is mostly grown in India ?
(A) Wheat (8) Pulses

(C) Rice (D) Bajra

Which is not forest based Industry :
(A) Paper Industry (B) Wood Industry
(C) Rubber Industry (D) Sugar Industry
Bhilai iron and steel industry situated in
which state of India :
(A) Chattisgarh (B) Karnatak

(C) West Bengal (D) Odisha

Weather maps are publised in India from :
(A) Mumbai (B) Pune

(C) Delhi (D) Dehradun

Which type of disaster in Bhopal gas tragedy :
(A) Natural disaster

(B) Industrial disaster

(C) Chemical disaster

(D) All of the above

In which state in India Tuticorin port is
situated ?

(A) Tamilnadu (B) Karnataka
(C) Andhra Pradesh (D) Kerala

P L O.
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(A) dhald

(B) ufa=rsrard
(€) & F v
(D) 39w qHT

T F T Fg1 AMfiE 9rier 29§ -
(A) 55 TS It

(B) Zmees fhmen

(C) afem

(D) S

i STl & T FRRER A §RE ST
T8 2, 3% g ooy i T gEER dar g
(A) =ReE e

(B) Te g

(€) §9=

(D) ¥-ferdre

[30]
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Tsunami is :

(A) Cyclone

(B) Anticyclone

(C) High Oceanic waves

(D) All of the above

Which country is biggest contributor of trade
in India :

(A) United State of America

(B) United Kingdom

(C) Belgium

(D) Germany

To all those customer who do not have

computers or internet to them they are
provided telecommunication through :

(A) Vyaparik Channel
(B) Speed Post

(C) e-Post

(D) e-Bill Post

Courtesy : NTSE
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CIVICS
71. WEE T " w5 59 B3 71.  Indian National Congress was formed in the
year :
(A) 1885 (B) 1900
(A) 1885 (B) 1900
(C) 1920 (D) 1947 (©) 1920 (D) 1947
72. WY afafy & snamet @ 9 ? 72. Who was the president of the drafting
(A) = TR committee ?
(A) Rajendra Prasad
(B) 3mgaH
(B) Ambedkar
(C) wier ff (C) Gandhi ji
(D) @& (D) Nehru ji
73. WRAE P HAE & 49 HeEH @4 4 ? 73.  Who was the first president of Indian National
Congress ?
(A) T & ;:
(A) A. O. Hume
B) §i=aTd asi
(2 (B) Surendranath Banerjee
(C) =TT TR T (C) Wyomesh Chandra Banerjee
(D) werem M (D) Mahatma Gandhi
74, difers AfER N g F oF@ 8 2 74.  Who safeguards the fundamental rights ?
(A) TR (A) Prime Minister
(B) Tt (B) President
(C) 5w (C) Parliament
(D) T = (D) Supreme Court

75. faumesT 959 54 % o AT 3 e 75. What is the minimum age to become a

g g+ alRe ? member of Legislative Assembly ?
(A) 21 =¥ (B) 25 = (A) 21 years (B) 25 years
(C) 30 = (D) 35 ad (C) 30 years (D) 35 years
NE [31] PT.O
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ECONOMICS

i e o7 &1 e fA=fefan & 8 fFeR 76,
g ?

(A) Tt 3 (B) iwa 34

(C) W s (D) T 3

farferfian & @ Sim-ar anfdes fwm & mgeve 77
g ?

(A) TEA &

(B) 3nfi® aeamn

(C) wmfSs FeamT

(D) 3= T

‘T 3R ey’ fraforfaa § @ feod g/ 78,

@t § 7

(A) SmIfde® ST

(B) fds HE

(C) ifteh W=

(D) 3= Tt

e § & fpm o & wmm § = snfls 79,
Aifer @ g T ?

(A) 1990 (B) 1991

(C) 1992 (D) 1993

T|-wE s @ e g 80.
(A) T T g F9 39T § g 21
(B) W& T Fom a1 fowg 9 gafm g1
(C) T T s =997 35 29 ¥ ¥ar 8
(D) T& o R it o faws # & €

[32]

Per capita income refers to which of the

following ?
(A) Whole income (B) Average income

(C) National income (D) Net income

Which of the following is the criteria of

measurement of economic development ?
(A) National Income

(B) Economic Welfare

(C) Social Welfare

(D) All the above

‘Education and Health' belong to which of

the following ?

(A) Social infrastructure
(B) Economic infrastructure
(C) Physical infrastructure

(D) All the above

In which of the following year India has

adopted the "New Economic Policy' ?

(A) 1990 (B) 1991

(C) 1992 (D) 1993

Multi-national Company means ;

(A) A company whose work relates to
production.

A company whose work relates to sale.
A company whose business is spread
over several countries.

A company whose sharcholders are
spread in whole world.

(B)
©

(D)
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MATHEMATICS
*O+tan” 6 -1 *0+tan’ -
81. — + :m A B : 81. The value of - Ttﬂm} i ‘e s
sin” 0 sin~ 0
(A) sin? 0 (B) cos? B (A) sin® 0 (B) cos? 0
(C) cot? 6 (D) tan? 0 (C) cot? 0 (D) tan? B
cos” 20° + cos® 70° cos” 20° + cos” 70°
82. = - &H AF 8 : 82. Value of — e 190
sin?59° +sin?31° ? aue Ot in? 59° +sin"31° #
(A) O (B) 1 (A)0O (B) 1
1 1
© 5 (D) -1 © 3 (D) -1
83 mFBWUR & few e 83. Which value of m, equation
2x+my -4 =0, 2x +my—-4=0,
3x-T7y-10=0 3Ix-T7y-10=0
F FE A & B ? has no solution ?
2 4
2 4 2
A) — By — (A) (B) —
( )3 ()IO 3 10
14 14
14 14 A il
©) -+ (D) S ©) 3
3 3
84. FETE x3-4x2-7x+ 10 F & g 84. Zeroes of the polynomial x3 — 4x2 — 7x + 10
are :
(A) l! 5; _2 (B) ls "‘5,2
(A) 1,5,-2 (B)1,-5,2
(€)=, 5.2 (D) 1,-5, -2
(C)-1,5,2 (D) 1, -5, -2
x=-x2+2 , ) ;
85. m ¥ $9 @ =iwe S 9@ % 85, Which rational expression should be added
e X—x+2 x+1
xz-l W_Q;r ? 1o X(Xz—]) toget xz_] :
X 2 X 2
) 3 ) - A) 3 (B) ~
(C) 2x (D) x? (C) 2x (D) x2
NE [33] B T.0.
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86.

87.

89.

90.

91.

NE

SR AR g FR A W A D

(A) 4 T, (B) 6 .
(C) 8 . (D) 10 &
UE @Ed 3o F SOn 14 T4 71 AR 9l
= 16 T T4 Wraer deR F Tl THTS
1320 #f.2 8 a9 fiaft == @ -
(A) 14 T, (B) 16 5.
(C) 7 ¥ (D) 8 .
fFdt g99 & d9R F IO uE 39S s
F TE EE @A 39 e g F I
FHOT B
(A) 300 (B) 459
(C) 60° (D) 90°
sin 0 (cosec 0 — sin 0) &1 HH g :
(A) sin? 0 (B) tan? ©
(C) cot? 6 (D) cos® B
4 foel @l us @Y WA W, fER
figd W g3 () @ g W 24 (W) 34
N WRpar @ -
(A) 2 (B) 172
(C) 4 (D) 1/4
dar o A A §, ™ s oAm @ W
Widewar &ft fof &l & S=Afe 3ver-3re &)
(&g ad = BeE) -
e 3
W) 363
|

®) 363

364
(C)EEE
(D) 3RF ¥ F FE TE

[34]
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86.

87.

88.

89.

90.

91.

Length of Chord which is at a distance of 3 cm.

from the centre of circle of radius 5 cm. is :
(B) 6 cm.
(D) 10 cm.

(A) 4 cm.
(C) 8 em.

The height of a hollow cylinder is 14 cm. If
external diameter is 16 cm and total curved
surface area of the hollow cylinder is 1320
sq. cm., then its internal diameter is :

(A) 14 cm. (B) 16 cm.
(C) 7 em. (D) 8 cm.

The angle of elevation of the sun when the
length of the shadow of a tower is equal to
its height is :
(A) 30°
(C) 60°

(B) 45°

(D) 90°

The value of sin B (cosec 8 — sin 0) is :
(A) sin? 0 (B) tan? 0

(C) cot? 6 (D) cos® B

Two coins are tossed simultaneously, then

the probability of getting head on one coin

and tail on another coin is :
(A) 2
(C) 4

(B) 112
(D) 1/4

Sita and Gita are friends, what is the
probability that both will have different
birthdays (ignoring a leap year) :

(A) —

365

1

364

364

365

(D) None of these

(B)

(©)
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92.

93.

94.

98.

96.

97.

NE

g @ gge G @ g, fo Y ey o
f T R =w o qrEm g @ ey faefer
g & g M, AW S adwe g
w0 g ?

(A) 50 39
(€©) 70 =¥
2§ 9m &9 ol @ s @t e fee
e & o
(A) 30

(C) 45

AR A 3 B & i weew @ W

(AUB)C =

(B) 20 =4
(D) 30 =

(B) 40
(D) 50

(A) A€ L B€ (B) A¢ A B€

(C) A u B€
§ If. = & wile & Tiet &I TomEL 1 9,
fisqr & o M SR S gEd & 2

(A) 64 (B) 128

(C) 356 (D) 512

(D) AC ~ B

sin49°
cos4 |’

+cos4l"‘ i gy
sin49° '

(A) 2

(B) 4

€)1

(D) 3WeT & § HE 7Ll

TE T FHEOT ax? +bx +c=0 & I8
aRdas 99 @l B €, 3

(A) b% - dac = 0

(B) b2 > 4ac

(C) b2 < 4ac

(D) b2 + dac = 0

[35]
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92.

93.

94.

97.

Five years ago age of Sunita was thrice the
age of Vineeta. After 10 years Sunita's age
will be twice the age of Vinita, what is the
present age of Sunita ?

(A) 50 years (B) 20 years
(C) 70 years (D) 36 years

How many two-digit numbers are divisible
by 2 :

(A) 30 (B) 40

(C) 45 (D) 50

If A and B are two non empty sets then
(AUB)© =

(A) A® ( BC (B) A ~ B¢
(C)A u B¢ (D) A€ ~ B

How many spheres of iron having radius 1
cm. can be made by melting a sphere of iron
having 8 cm. radius ?

(A) 64 (B) 128

(C) 356 (D) 512

Value of |:Sin 49: i C?S“OJZ iS5 :
cos41°  sin49°

(A) 2

(B) 4

(O 1

(D) None of these

A quadratic equation ax? + bx + ¢ =0 has no
real roots, if :

(A) b2 — dac = 0

(B) b2 > 4ac

(C) b* < 4ac

(D) b2 + 4ac = 0

P.T. O.
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fft i wqds & og@ S & 9 dm 98,
i
(A) 90° (B) 180°
(€) 270° (D) 360°
AR A0 : 8,3,-2,... B WIH 20 T H 99,
am B
(A) -790 (B) -970
(C) -979 (D) -779
TS WEfed & Uiy & W 1em 21wk 100.
% fme # 21 99 T 81 T O W
aRfFa el g s -
(A) 3.636 km. (B) 6.336 km,
(C) 6.633 km. (D) 2.640 km.
888
136]

The sum of pairs of opposite angles of a cyclic

quadrilateral is ;
(A) 90° (B) 180°

(C) 270° (D) 360°

The sum of first 20 terms of AP : 8, 3, -2,

(A) =790 (B) 970

() -979 (D) =779

The diameter of a cycle wheel is 1.6 m. The
wheel revolves 21 times in one minute, then

how much distance will the cycle cover in

one hour :

(A) 3.636 km. (B) 6.336 km.

(C) 6.633 k. (D) 2.640 km.
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